Time & Work
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Two pipes A and B can fill a tank in 20 min-
utes and 30 minutes respectively. In how
much time the tank will be filled by these pipes
if they are opened together?

Y UET A 3R B T I i E: 20 e ok 30 e |
W HRG ¢ | TG ST TRY T Wi Gl feu S q S W
A H fopa am T @ 2
(A) 10 min./fH7e
(C) 12 min./fHe

(B) 15 min./fH7e
(D) 20 min. /fH7e

2
Two pipes A and B can fill a tank in 6§ min-

1
utes and 125 minutes respectively. In how

much time the tank will be filled by these pipes
if they are opened together?

Y IEY A i B TF < @ HEW: 6% fie ok 12%
fore ) Tpa ® 1 Afe I TET TR w1 i g S @

! A H foRan T @ 2
(A) % min. /e (B) % min. /e
(©) g min. /{472 (D) 20 min. /T4

A pipe can fill a tank in 5 hours and a second
pipe can empty it in 4 hours. If both pipes are
opened together, then how much time will it
take to empty the tank completely?

T WY TR} St i 5 502 H U § 9 el © S St
T R T TRY 4 TS H Wet Gkl € | Afg IRt
ot o g% &1 iR I wE R @t femn S, o Sent
o e # @ett 81 Set—

(A) 5 hour/=me (B) 20 hour/=me

(C) 4 hour/=me (D) 10 hour/®ve

A pipe can fill a tank in 5.5 hours and a sec-
ond pipe can empty it in 4.4 hours. If both
pipes are opened together, then how much

time will it take to empty the tank completely?
Tk T foRlt SR T 5.5 WU H U W 9 Tkl § ST IRt

R I TRY 4.4 S0 H Wl FL Gkl § | AfG It

qoiEr oK g2 o1 iR I WET bl Wit fea S, @ Sent
fora o= ° et B Sa—

(A) 5 hour/=me (B) 20 hour/=me

(C) 4 hour/=me (D) 10 hour/®ve

A pump can fill a cistern in 2 hours. Because

1
of a leak in the cistern it took 25 hours to fill

it. If the cistern is full, how much time will
the leak take to empty it?
ek 77 TRt <ot ol T 9 2§ | YR ka1 € | SR H T

e & 5 S Q%Wwﬁ%mﬁg@éﬁ,qﬁfwﬁ

% HROT foRas 93 | @relt g1 wwe 2
(A) 15 hour/®mwe (B) 14 hour/=me
(C) 10 hour/®ve (D) 12 hour/®ve

An electric pump can fill a tank in 2.2 hours.
Because of a leak in the tank, it was taking

2% hours to fill the tank. The leak can drain
all the water off the tank in how many hours?
o forera o foRstt St Rl 2.2 90 H SR W € | St H
<ot Rl TR T B T o SR o 2% WU H o | 3H
femma 9 St fovam =0 B q0 TE 9 el 8 Wt € ?

55

(A) 9 (B) 3
1 1
(C) 105 (D) 115

Pipe A and B running together can fill a cis-
tern in 6 minutes. If A takes 5 minutes less
than B to fill the cistern, then the time in which
B alone can fill the cistern will be?

BT A 3R B U 919 Tk <1 o1 6 T H s Ehd ¢ | 91E
A HI® WA H B Y 5 e 9 999 W@ € @ B eThan
Eedeakitul

(A) 15 minute /fAe
(C) 30 minute /fe

(B) 10 minute /fAe
(D) 25 minute /fATe
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10.

Mother's (BT« A9 3R BrRf

2
A tank is filled by itsg part by water. Tap A

can fill the tank in 10 minutes where tap B
can empty it in 6 minutes. If both taps are
opened then in how much time the tank can

be filled or emptied completely?

T P S 2 T g | A T I S
10 ffe # R wehdT B, oIk B 70 39 6 fie & @t
kel & | 9f% A e e fEu S |t <okt e T o ot
T A1 R TR E 2
(A) 5 minute /fH7e
(C) 8 minute /fiae

(B) 6 minute /fHe
(D) 4 minute /fe
Pipe A can fill a tank of capacity 350 litres in

3L
2

. ) 2
780 litres in 85

will it take to fill a tank of capacity 1615 litres,

minutes. Pipe B can fill a tank of capacity

minutes. How long (in min)

if both pipes are opened together ?

T A, 350 T A e A wE B A G
TR FHAT 7 | IET B, 780 T i €T A1t Wk Ik i
8% el o o) eRan € | Afe S T R U e Ere
feon ST &, @ 1615 olieX i wifar ot I I oA |
fora o7 (FAel H) & ?

A cistern normally takes 10 hours to be filled
by a pipe but because of one open outlet pipe,
it takes 5 hours more. In how many hours will
the outlet pipe will empty a full cistern?

T St o1 WA B WA 10 5 o d €, AR T gl
BTSN WY i 7578 W Soh1 bl T H 5 He SAfueh ohrd € o

3TSTIE WEY <okt ohi foRa i H *R S 2
(A) 20 hours (B) 24 hours
(C) 30 hours (D) None of these

11.

12.

13.

14.

Two taps can fill a tank in 3 hours and 4 hours
respectively and a waste pipe can empty it in
2 hours. When all the three are opened, in
how long time the tank will be filled?

Q) A T 21 1 HHY: 3 T 4 HUS H W HRA § 91 Th
TRt =Te1 S92 59 H wrelt s wehaT ¢ | 9 il et @l
et feu S, @ i foRas wea  som—

(A) 12 hour/=ve (B) 6 hour/=me

(C) 10 hour/®ve (D) 8 hour/®ve

1 1
Two taps can fill a tank in 35 hours and 4Z

hours respectively and a waste pipe can empty

1
itin 2 >
in how long time the tank will be filled?

T Tl T ISl Sl A 3% qen 4% S H WX T ©

T Tk T} e S9 2% U H Hell B Hehdl © | 91
T 1 1 @i e o, <t S fohae oo o sm—

hours. When all the three are opened,

(A) 12 hour/=we (B) % hour /=m0
(C) % hour /=0 (D) 8 hour/®ve

A tap can fill a cistern in 6 hours. After half of
the tank is filled, three more similar taps are
opened. What is the total time (in hour) taken
to fill the tank completely?

e 717 Teomelt Skl ol 6 TS W YU HehaT € | ST oh! 3Tl o)
W B, O SH WhR % A o 3R @it Teu S € | St

T 9 H T FAa g (e H ) RRa S 2
3
(a) 33 (B) 4 (€) 3 (D) 5

Two pipes can fill a tank in 15 and 12 hours re-
spectively and third pipe can empty the tank in
4 hours. If the pipes are opened at 8, 9 and 11
o'clock respectively. The tank will be emptied at
that o'clock _ .

3 WY foRet 2t A 15 SR 12 e § Ut | 9)
Hohd ¥ 3R Uk A0 T8 T Sh! Bl 4 HUS H el w
HehdT € | 9fE 39 T 1 HH: 8, 9 3R 11 = Wil 9,
Tt <kt e o1 @t gt —

(A) 45 minutes past 1/ 1 S5 45 THe

(B) 40 minutes past 1/ 1 SIS/ 40 Tie

(C) 55 minutes past 1/ 1 IS 55 fie

(D) 40 minutes past 2/ 2 5% 40 T2
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15.

16.

17.

18.

Mother's Arithmetic * Time & Work

Two pipes A and B can fill a tank in 60 min.
and 75 min. respectively. There is also a waste
pipe in the tank (cistern). When all the three
are opened, the cistern get filled in 50 min-
utes. How long will the waste pipe take to
empty the full cistern.

3 ET A 3R B STemT-3Te fREt S i e 60 fie
3R 75 fae & SR ok € | 2t 1 et H SHeR! TIel 3 &
e we e U @ © | AfE A T 6l U e @
feon <G, @ St 50 fore | o) St € 1 3vhen e uEY
Ikt T foRa T & el S TehdT £ —

(A) 90 min./ T4 (B) 150 min./ fae

(C) 80 min./ fe (D) 100 min./ e
Two pipes can fill a tank in 12 and 20 hours
respectively. The pipes are opened simulta-
neously and it is found that due to leakage in
the bottom, 30 minutes extra are taken for the
cistern to be filled up. If the cistern is full, in
what time would the leak empty it?

T TT HER: 12 IR 20 W H wH Ik A W TR ¥ |
T SR TR W W S © iR qe | e & e et
=1 9 | 30 THE o1 wHe SAfes o @ 19 St ol g8
B < T & ror 2ot fovae 993 | @t g1 S 2

(A) 120 hrs (B) 100 hrs

(C) 115 hrs (D) 112 hrs

Two pipes A and B can fill a tank in 3 hours
and 3 hours 45 minutes respectively. Third
pipe C can empty the tank in 1 hour. All the
three pipes are opened together when the tank

is half filled. In how much time the tank will
be emptied.

ferelt 3o ol < ST A T B STT-STRT ShEST: 3 TUS Tl
3 902 45 fAAe H R Tohd € 1 T dIET Y C U R Sk
1 519 ¥ el o Herat ¢ | 59 Tw S w9 St o
o7 o, A I Wie feu T | foRa T a9 @t '
ST 7

(A) 75 min./ foTe (B) 50 min./ f#e

(C) 60 min./ fHTe (D) 45 min./ o2

Two pipes P and Q can fill a tank in 8 and 24
hours respectively. There is a leak which can
empty the full tank in 12 hours. If leak is
exactly at 2/3™ of the height from the base,
then in how many hours, will the empty tank
will be filled, if all pipes are opened
simultaneously?

19.

20.

21.

YIETP 3 Q Th Ik ol ohHw 8 IR 24 S H sWHHI 7 |
T TiheT S 9N GU 3o 1 12 5[0 H Wiefl 9 Hahell © | 47
SRR 23 AR WA Tkl &, o @it ok foha e H
T R ST A Wl TR T e e e S 2

(A) 8 hr/ =7 (B) 6 hr/ =me

(C) 10 hr/ = (D) 12 hr/ =%

Two pipes are running continuously to fill the
tank. The 1st pipe has filled it in 5 hrs by itself
and 2nd in 20 hrs. But a 3rd pipe was outlet
pipe and the operator did not notice it due to
which it caused a delay of 1 hour in filling the

tank. Find the time in which the 3rd pipe would
empty the filled tank ?

TRt Soht 1 WA o TaTU <1 Tl BT Wk 1 <l S © |
TEel T 38 STheT 5 T H R TehaT & ST TE 7 20 we
H | T Tk I et 1o oft & TSRt et 3 &1 et
oo fant rofe 9 2ot ol /A | Weh 50T SATel o | 31
A foF 0 e N g SF A fohaet < H @t FL
(A) 15 (B) 20

(C) 25 (D) 30

In a tank 1% pipe can fill 1/2 of a tank in 1
hour, 27d pipe can fill 1/3 of total in 1 hour
and third pipe is for emptying it. 7/12 of the
total tank is filled with water in 1 hour if all
the three pipes are opened together. The third
pipe can empty the fill tank in that no. of
hours_ .

T SFH T TT T § | Teen ey 1 v H SH w12
T ¥R TRAT & T TEA AT 1 v H TR A1 1/3 907 W
HHAT T | T TEY W1 gU Tk h Giefl A & Ty e
T} | AT T T e Gie W 1 Ty g 7/ 12
AT R AT | A WY R I H R wHa | @t
FHOT—

(A) 6 hours/ =7 (B) 5 hours/ ¥7e

(C) 4 hours/ ¥7e (D) 8 hours/ o7

Two pipes A and B can fill a tank in 20 hrs.
and 30 hrs. respectively. Both the pipes are
opened to fill the tank but when the tank is
one-third full, a leak develops in the tank
through which one-fourth water supplied by

both pipes goes out. What is total time taken
to fill the tank ?

T IEYT A 3 B TF S 1 U 20 ¥ iR 30 e H R
T T | 3 1 WA F FoAw S TR Eiel 9 ¥, AfR o
S tH-faer W@ R, @ ¥ H s R foentid g
o mem 9 IFT U g YR W STel U A ot
FroheT SITaT § | S BT oA H et TR e i ?
(A) 14 minutes (B) 15 minutes

44
— minutes

D)

45
(@] e minutes
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22.

23.

24.

Mother's (BT« A9 3R BrRf

A pipe can fill 0il in a drum in 40 minutes.
Another pipe can empty it 60 minutes. When

2
3 part of drum was full of oil, the empty pipe

was opened and 15 minutes later it was closed.
Now in how long time the drum would be filled
if filling pipe is opened?

T 9T o) T3 Y % 11 U $H i 40 e o qa & s st
THAT T | Toh T G A I T L o1 §H i 60 T
T et o TRl & | 76 $H T 2/3 9T ael ¥ 9 o, et
LA AT IR R WS TS T 991 15 e aven 9= W
Teer T | 31f 59 W SR Tl TR Ak @i, d $H b 9
T T AT A BT 2

1
(A) 23 3 Minute /T4

(B) 40 Minute/fHe
(C) 20 Minute/fHe
(D) 37 Minute /{472
A and B, two taps can fill a tank in 3 hours
and 4 hours respectively. C can empty it in 1
hour. If the taps are opened at 3 pm, 4 pm.
And 5 pm respectively, at what time the tank
will be emptied?

TH o F 3 TA A, B 70 C 7 | A 31X B 38 %9 3 9o
49U H TR EER § SR C 38 1 79 H Teft o weRan § | A
ol @ S feT ST 3, 4 3R 5 IS 3TIE @il S,
2t fora =it @rett B 2
(A) 7: 12 pm
(C)2:13 pm

(B) 8 : 15 pm
(D) 9 : 15 pm

A tank has three pipes A, B and C. Pipe A can

1 1
fill 1 of tank in 1 hour and pipe B can fill 5

part of tank in 1 hour. Third pipe is installed
to empty the tank. After opening 3 pipes si-
7
multaneously 20 part of tank get filled in an
hour. In how much time the third pipe alone
can empty the tank ?
THEHFHATIRIA, BiRCRITETA 1 5 | S o
1 - 1
mem%awa1w€ﬁ%mw 5 TR
HHRAT T | T TEY N gU $F I Wil A & Ty e
. - 7
TR | A IR T e Gret W 1 50§ I @l o0
AR T | A AT g o) Ik T e wee B @t s ?
(A) 12 hour/e (B) 8 hour/®2
(C) 10 hour/%e (D) 6 hour/e

25.

26.

27.

A pipe can fill a tank in 30 minutes. Due to
two leakages A and B, the filled tank would

1 1
be drained off in 15 hour and IZ hour re-

spectively. How long will it take to fill the tank
if the pipe, A and B are left open ?
Tk 13T 30 fie § weh S sk Tahan € | A 371 B &1 e o)

U SRl He: 1% e 3t lia’%ﬁ@ﬁﬁméﬁ%wﬁ:
TEY, A 3R B %I Gl S 5o S dr $ w1 o)A H foRa
TEI T ?

1

Alzh B) 1= h
()8our ()sour

1 5 hour
Three pipes, A, B and C, can fill a cistern in
12, 18 and 24 minutes, respectively. If all the
pipes are opened together for 7 minutes, what
will be the volume of the water that overflows
as the percentage of the total volume of the
cistern?

i =T A, B 3R C TH Sow™ & HHw: 12, 18 3R
24 e sRHHa ¢ | 4fe goft wgy 7 fire o fore weh wie
et e S, o ST o et ST o fehaet wiesTa Ster

SAfquaTg & T9H o8 W ?

5
©) (D) 16 hour

7 1
() 262 (B) 235

2 5
(©) 233 (D) 2672

Pipes A and B are emptying pipes and can
empty a tank in 6 hours and 16 hours, re-
spectively. C is a filling pipe. All the three pipes
were opened together. They took 80 minutes

18
fill the tank in:

Y A 311 B 3 ol Wil i a1 I18Y € &1 T o i
AT 6 Fe AT 16 T H Wil L Thd ¢ | C T 1 9
T T | AT qIEAl T Tk W G 74T | S I8l i

Sk - T B @ B 80 e w1 9w R

18
T C SThT % I foha TH H R AHaT g ?
(A) 48 hours /=< (B) 42 hours /%
(C) 40 hours /% (D) 36 hours/%e

to empty th of the tank. Pipe C alone can

HEAD OFFICE : 201, Himmat Nagar, Gopalpura Mode, Tonk Road, Jaipur-302018
0141-2711689, +91-7073909991 | www.motherseducationhub.org



28.

29.

30.

Mother's Arithmetic * Time & Work

Pipes A and B can fill a tank in 16 hours and
24 hours, respectively, and pipe C alone can
empty the full tank in x hours. All the pipes
were opened together at 10 : 30 a.m., but C
was closed at 2 : 30 p.m. If the tank was full at
8 : 30 p.m. on the same day, then what is the
value of x ?

TET A 3R B T ¢ &l AW 16 = 3R 24 52 # =)
Hord ¥ IR 3T C 38 TR w1 Tk i 37t x Fe H el R
TRl & | Moft TR BT U W gow 10 : 30 S e H
feam T, Sfeh C 1 8TIE 2 @ 30 oS 9ig Y e |
ST 341 &7 7@ 1 8 : 30 IS T W AT o, W x AN

FE?
(A) 64 (B) 48
(C) 45 (D) 96

Three pipes P, Q and R can seperately fill a
cistern in 4, 8 and 12 hours respectively. An-
other pipe S can empty the completely filled
cistern in 10 hours. Which of the following ar-
rangements will fill the empty cistern in less
time than others ?

T 7 P, Q e R 3To-37Ter Tt €11 ol sl 4, 8
T 12 T H g0 SR AR § | TF 379 7 S T R &I %1 10
He H @reft R TR ¢ | Frefafad § 9 FE-5 T et
B T 77 W HH T H 9 2

(A) Q alone / 3%al Q

B P&S

(C)P&Q

D)P,R&S

Konkan dam has 4 inlet pipes. The dam can
be filled in first three pipe in 12 min, by sec-
ond, third and fourth pipe in 15 min and first
and fourth pipe by 20 min then find how much
time all four pipe take to fill the dam?

FHITHA G H A S A T H WS4 B |9, W
3 TR ER 12 fae #; g, e qe =i uRY gR 15
e # oiR vt qen S WE 5 20 e H s S, @
1A HITSTE T T AR T8 R e &l SR | fhaen a5
w2

(A) 8 minute /fH7e

(B) 10 minute /fe

(C) 12 minute/fHTe

(D) None of these

31.

32.

33.

Pipes A, B and C can fill a tank in 10, 15 and 30
hours, respectively. D is an emptying pipe which
alone can empty the full tank in x hours. A, B
and C are opened together for 3 hours and then
closed. Now D is opened which alone empties
the tank in 30 hours. What is the value of x ?

Y A, B 3R C T 3% &I %A 10, 15 R 30 5 H
R E | D Toh ol Wl A o1l 3T ], S SR x S
T R I Rl WIel R Tha1 € | T A, B 31k C #1 T 91
3 %3 % o @ren Sran @ iR fir o & foan s § 1 et
BT D Gl Sl e, ST 3Tohet S @i 30 S | @refl o <l
2 | X 1 A/ 9T |
(A) 40

(C) 60

(B) 50
(D) 45
Three pipes A, B and C can fill a cistern in 15,
24 and 36 minutes respectively. If pipe D can
drain a full tank in 1 hour, how long will it

take for the tank to be filled if all the four pipes
are kept open together?

9 1T A, B 3R C %A% 15, 24 31X 36 foei # <t
1 S TR ¢ | TET, TET D R R Ik H 1 H H @rett
TRl § | A woft SR Wl bl Tk Wi el T W §
IH 3% 1 A H foha w5 o ?

1.
(A) 9§a%:

12
(B) 5£sﬁ:

16 .
(C) 84—3‘&%

2 .
(D) 7§*a%

Pipes A, B and C can fill a tank in 30 h, 40 h
and 60 h respectively. Pipes A, B and C are
opened at 7 a.m., 8 a.m. and 10 a.m. respec-
tively on the same day. When will the tank be
full ?

T A, B 3iR C T 2t 1 A 30, 40 3R 60 HH
W TR § 139 dHl el A, B 3R C & T €1 e e
7 9, 8 91t 3R 10 91! =] 1 fean T | 2t e o W)
ST ?

(A) 10.00 p.m./ & 10.00 st

(B) 10.30 p.m./3W & 10.30 !

(C) 9.20 p.m. /W& 9.20 I

(D) 9.40 p.m./3THE 9.40
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34.

Mother's (BT« A9 3R BrRf

There are two water taps in a tank which can
fill the empty tank in 12 hours and 18 hours
respectively. It is seen that there is a leakage
point at the bottom of the tank which can
empty the completely filled tank in 36 hours.
If both the water taps are opened at the same
time to fill the empty tank and the leakage
point was repaired after 1 hour, then in how
much time the empty tank will be completely
filled?

T 21 H T o ST & ST et 29t bl SR 12 5 iR
18 2 H W Hhd €. 78 <@ T § fF I & 9w
foig 3 51 36 = ® T T ¥ N Ik T WIel FL HFaT ¢ |
7fg Erelt Skt H R % T ST e Bl T wie e e
ST & SR e foig 61 1 512 & oe S e fean wman &,
Tet 2okt fha T7a & g0 ag @ oR S ?

[CGL Pre 2020]
(A) 7 hours 12 minutes / 7 %< 12 f&e
(B) 8 hours 24 minutes / 8 %< 24 fae
(C) 7 hours / 7 ¥
(D) 7 hours 24 minutes / 7 %< 24 e

35. Tap A takes (x — 44) days to fill a tank. Tap B

takes (x — 42) days to fill the tank. If both the
taps were opened simultaneously, by the time
the tank was full, what fraction of the tank was
filled by tap A?

T A Tt @t SR A (x — 44) A H R uFar e 1939 B
SH I W (x — 42) fe7 H R gekar € 1A SH A
TH-T1 @IS T A bt SR R T A 5 2kt & fovamn
AT 9T 73T 2

A B
C —1 D) —
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Mother's Arithmetic * Time & Work

Answer
(C) A— 20 3
> 60 <
B 30 2
60 .
A + B can fill the tank = ? = 12 minute
B 20
( ) A 3 ~ /15
100
B 25 T3
2
A + B can fill the tank = —>° min. /fH7e
B) A— 5 4
- > 20
B— 4 5

20
Time taken to empty the tank = ER
= 20 hour/®ve

B —4.4 5

20
Time taken to empty the tank = ER
= 20 hour/®ve
(B) A— 2
>ﬂ«<
A+B —-L
Time taken to empty the tank = T
= 14 hour/=me
B)50 A 22
) >1 10
44 = 2
A-B 5
(—ve is for empty)
= BsEff =50-44 =6
L5555
=Ty = 3 3 hours
: .S
Due to leakage tank will empty in 3 hours
(A) Let Pipe A fills the cistern in x minutes.

therefore, pipe B will fill the cistern in (x +
5) minutes.

N l+;—l =10

Thus the pipe A can fiil in 10 minutes, So B
can fill in 10 + 5 = 15 minutes

8. (B) 6<«-A —>10>
60
-10<—B—> -6
-4 <— A+B
6OX__
- 4 5 6 min
. . 350 ]
9. (C) Capacity of pipe A = x 2 =100 I/min
. . 780
Capacity of pipe B = 26 —— % 3 =90l/min
time taken b A+B—@—81 i
ime taken by ( ) 190 5 min

10. (C) As cistern is filled in 10 hours, therefore in
1 hour, filled part — 1/10th

Now du to outlet pipe, filled part in 1 hour

= 1/15th
Part of the cistern emptied, due to leakage
1 1 1
in 1 hour = 10 15 %th

Therefore the leak will empty the full cis-
tern in 30 hrs.

11. (A) A— 3 4
N 4> 12<3
9 6

12
Tank will be filled = 1 ° 12 hour/®ve

12.(C) 5 10 51
3
B— L7 170 40
4
S
— 68
= 2
170
Tank will be filled = o3 hour/#mwe
13. (A) Time taken by one tap to fill half tank = 3
hrs
part filled by the four taps in 1 hour
a1z
- 6 3
N I
emaining part = 1 — 2 =1
2 1
3 P pirlix
1 3 3
= |=X1lx=| ==
X [2 2] 4 hours

Total time = 3 hr 45 minutes
14. (D) Let the tank be empited in x hrs.,after 8 am
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Mother's (BT« A9 3R BrRf

X
tank filled by pipe in x hours = —

15
tank filled by secone pipe in (x — 1) hours
_x-1
- 12

tank empited by third pipe in (x — 3) hours

_x-3
4
x  x-1 x-3
15 12~ 4
_4x+5(x—1)—15(x—3)_0
= 50 =
=4x +5x-5-15x+45=0
=-6x+40=0
L9020 2 o
X= " =3 3 rs. min.
15. (D) Let the third pipe empty the pipe in x min-

utes.

1 1 1
= — 4 — _ —

60 75 x

According to the question
1 1 1 1

= + — - =
60 75 x 50

r_t,1 1

x 60 75 50
1 5+4-6_ 3

x 300 300
AR\ WA W

< - 300 = X min.

16. (A) Cistern filled by both pipes in one hour
1 1 2

"2t T 3H
Therefore both pipes filled the cistern in
15

5 hrs.
Now due to leakage both pipes filled the cis-

in = + 30 8h
tern in B 60 rs
Therefore due to leakage, filled part in one
1

h -

our = ¢
Therefore part of cistern emptied, due to

. 2 1 1

leakage in one hour = 15 "8 20 th

. In 120 hrs, the leak would empty the cis-
tern.

17.(A) Part of the tank empited in 1 hour

1 4 9 6 2
—1_|=+—|=71_. == — ==
3 15 15 15 5

time taken to empty the full tank

time taken to empty the exactly half filled

5
tank = 5 X 5 hours = Zhours

= 1 hr 15min.
P*S

24>24<
.

Now till 2/3 height there is no use or leak
pipe R. So p + q will do the 2/3 work.

18.(A)

. e 16

i.e. (16 unit) in i 4 hrs.

Now work left is 8 unit

So, 8 unit work will be done by p + q + r with

8
efficiency (3 +1-2) in = 5 4 hrs
total time = 4 + 4 = 8 hrs
total time taken by both pipes without a leak
1 1

§+%_% 4 hrs

Now, it's takes 5 hrs so time taken by leak

111

4 5 20
So leak can empty it in 20 hrs.

20. (C) The first pipe can fill 1/2 part of the tank in
1 hours.

First pipe can fill tank 2 hrs the second pipe can fill
1/3 part of the tank in 1 hours.

First pipe can fill tank in 3 hours together both pipe

1 5

19.(B)

is =

to

canﬁllinlhr.=§+3 6
Third pipe emptying tank in T hrs.

Third pipe emptying in 1 hr. =
S 1 7

1

T
6 T 12

10T - 12 = 7T
3T =12

T =4 hrs.
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21. (D) 3 A

22. (A)

23. (A)

24. (C)

Mother's Arithmetic * Time & Work

20
20 > 60

So, efficiency of outlet pipe = _T

2 B

ATQ,

60 N 2x 60
total time = 3% (2+3) 3[2+3_5j
4

.32 %
= S—Smmues
+3 A-40

2
gpart is filled

2
120 x 37 80 litre
In 15 minutes pipe B leak
=15 x 2 = 30 litre
80 — 30 = 50 litre

empty drum = 120 — 50 = 70 litre

70 1
Total time taken = ? = 23 Emin
4<¢— A—>3
3<¢<—B—> 4> 12 liters
-12¢—C—>1
water in tank at 5 o’
clock

=4 x2+3=11 litre

water extracted in one hour
=4+3-12=-5

Time taken to empty the tank

= —11 =2h 12 m
=75 - in
So, Required time = 5:00 + 2:12 = 7:12 pm
A+Binlh 1+1 ke

+ = -4 —= —

in our 275 20

C in 1 h = —9 ——7 ——2

extract in our = 20 20 20

= T, = 10 hours

25. (A)

26. (A)

27. (A)

Let Pipe 'C' fill the tank

, 3
A > 5 -10
5
B! S Z -12 15
1 30
C — =
2
A+B'+C=-10-12+30=38
) 15 7
= Time taken to fill the tank = i 1§
hour
A—>12
B—>18 2 72
C—>24-— 3
Vol. of water in 7 minutes
=6+4+3)7
= (13)7 = 91
Vol. of water that will overflow
=91 -72=19
= Required Percentage
J19 oo -
75 00
2610/
18 ”°
A——> 6
B —>16> 48
C—>y X
ATQ,
8+3 @ =
48 x =
18
1 1 i —
1-x5 =
8 x5
3
44 — 4x =
40
= X = 1
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Mother's (BT« A9 3R BrRf

= C can fill the tank in 48 hours 32.(C) A 15 24
B —>24—13
28.(D) A —> 163 10 360
B — 24
D —60
© X ~48/x A+B+C+D=24+15+10-6=49 - 6
+B+C+D-= + + -6 = -6 =
10:30to 2 :30 > 4 hrs/till 8 : 30 43
48
-— = 360 16
(5 xj4+(3+2)6_48 = Time = — = 8—hour
43 43
10 26 +15 =24 1 26
- — = =>1=— =
- B 33.(©) g /1; 4318 >120
2 C 60
Work fill 1I0am =3 x4 +2 x 3 =18
29. (C) 30 P 4
.. . 102 34
15 Q 8 Remaining work's time = — = —
10 R 12 120 9 3
= 11 hr 20 min
-12.8 -10 So, time will be 9 : 20 pm
120 A—>12—-3
(a) Q Alone = — =8 Hr. 34. (B) Filled [
15 B—> 18 52
120 _120__ 1 Empty [ ¢ - 36 > 1
O)P&S=130-12) 17 ‘17 Ir ATQ,
Work done by by A, B & C in one hr. =4
120 2 is fi
(O P&Q= s :2§ hr Now C is fixed so work done by A & B
32
= — =6 hr 24 min.
120 120 2 S
(P R&S= (307 10-12) 28 =4~ hr Total time =1 hr + 6 hr + 24 min. = 7 hrs. 24 min.
So, P & Q will lake less time among them. 35. (D) Time taken by tap A
30. (B) 5 lst +2nd +3rd 12 T taken by top B
4 2nd + 3rd + 4th 15 60 Se y tap
= Ratio of work done
3 1st + 4th 20 =10:8=5:4
Efficiency of [1st + 2nd + 3rd + 4th] 5
54443 —2—6 PartﬁlledbyA=§
= v -
60 .
= Total time by four together = 6" 10 minutes
31. B)A->10-3 B - 15 -2
30 C »30-1
Tank filled by A, B, C
in 3 hours
=3)(3+2+1)=18
= D emtier 18 of tank in 30 hours
30
= D full tank in 18 x 30 hours = 50 hours
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